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— J0000d00ddooooooooooooon Mean of dep. var. = 33616.1 LM het. test = 1.14531
Std. dev. of dep. var. = 7695.00 Durbin-Watson = 1.35821
goood Sum of squared residuals = .124530E+09 Jarque-Bera test = 1.12872
Variance of residuals = .518876E+07 Ramsey’s RESET2 = 1.78854
0000000 oo oo Std. error of regression = 2277.88 F (zero slopes) = 261.294
—9 R-squared = .915876 Schwarz B.I.C. = 240.116
OO000oooooR OO0OOOO0O0d Adjusted R-squared = .912371 Log likelihood = -236.858
Estimated Standard
= ooooood (455704 b 223208) oboood Variable Co:f;?:iznt Zﬁrzi t-statistic  P-value
oooooooooooooooooooooooon c -3731.76 2353.26 -1.58578 [.126]
DRY .931505 .057626 16.1646 [.000]
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TSPODODOOOOO t Q1¢ Py Q2t  Pot | Q3 Pa: Ey Py
1982 [ 164.22 435.98 | 42161 54.04 | 36854 45.32 | 3038024 0.811
1983 | 160.14 448.20 | 41745 55.88 | 36492 47.97 | 3114247 0.825
1984 | 158.06 461.69 | 40890 57.62 | 36500 49.21 | 3195829 0.844
, 1985 | 154.51 477.41 | 39545 59.42 | 36099 50.20 | 3277373 0.861
Equation 1 1986 | 150.96 482.80 | 39532 60.86 | 35859 50.74 | 3316493 0.867
1987 | 142.60 482.67 | 38710 61.53 | 34576 51.83 | 3371326 0.868
o 1988 | 132.04 478.40 | 39218 61.75 | 33971 52.65 | 3493468 0.874
Method of estimation = Ordinary Least Squares 1989 | 128.40 486.37 | 39927 63.99 | 33603 54.71 | 3592205 0.893
1990 | 125.78 497.33 | 39157 66.71 | 32890 57.14 | 3734084 0.921
bepend able: RCONS 1991 | 123.82 499.36 | 39659 69.57 | 32615 61.44 | 3925358 0.951
ocben ent e 0 ba 1006 1992 | 120.58 516.05 | 39697 70.75 | 33401 61.06 | 4003931 0.967
N“f)ent e At o it 1993 | 121.93 536.85 | 40209 70.51 | 35085 59.80 | 4022955 0.979
umber ol observations: 1994 | 107.99 587.50 | 40458 71.08 | 35760 58.37 | 4006086 0.986
- - 1995 | 106.42 496.64 | 38766 71.97 | 35096 56.77 | 3948741 0.985
Spq, noan of qep. var. - 199736, o heT pest Z 8 500 1996 | 104.91 476.26 | 38436 72.74 | 34804 55.90 | 3946187 0.986
S o S;Vl;rzd e eala — B19164E+09 Jarqﬁz_;‘;matz;’i; 289058 1997 | 102.81 460.70 | 38333 74.39 | 35061 56.77 | 3999759 1.004
Variance of residuals = .207666E+08 Ramsey’s RESET2 = 2.67999 %ggg %8?33 igg?}é gggig ;31(1)8 giggg ggg? gggggg? %8(1)2
Std. error of regression = 4567.04 F (zero slopes) = 3267.05 2000 | 100.40 406.82 | 38480 71.47 | 34722 53.83 | 3805600 1.000
diusted b duarec 7 992400 Sehwarz B.1.C. 7 2802 2001 | 97.83 394.67 | 37554 70.12 | 34753 52.52 | 3704298 0.993
J 4 : & ‘ 2002 | 95.15 391.28 | 43727 61.34 | 36493 50.11 | 3673550 0.984
Estimated  Standard 2003 | 94.83 398.37 | 45876 60.12 | 37302 48.93 | 3631473 0.981
Variable Cootficiemt - ostatistic  Povalue 2004 | 89.02 426.12 | 46653 59.92 | 37957 47.72 | 3650436 0.981
c -23216.7 3844.54 -6.03889 [.000] ooooo0ooo0ooo0og (8o 1w60)0(@oon) - &
RY .933542 .016333 57.1581 [.000] joooooo (0o 160)0(000000) - 00O
180
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00000000000 (0000dp=1—-.5DW =1- . \\\\_
b5 x 289838) 100 \—\
I N
80
Equation 2 60
____________ 40
Method of estimation = Ordinary Least Squares .

Dependent variable: DRCONS $83888883823885328388
Current sample: 1971 to 1996 TS T -- - oo oo s s mm &
Number of observations: 26
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e 1000

E P
Qu = 397.0 — 0.00018 — 4+ 0.194 =
(8.89) 9.35) bt (4.39) b
P, P,
+ 0184 24 5614 =2
(0.209) 1t (.57 P
s=06.86, R2=0932, R =0917, DW =1.532
E, P,
Q2 = 61946.7 + 0.00893 =L + 4.014 —*
(13.9) 462) o 091) I
~ 7104 B2 gmop Do

(1.4) b (1.51) T
s=685.1, R2=0931, R =0915, DW =1.334
F P
Qs = 56642.5 — 0.00098 — + 17.9 -1t
(16.9) o67) P (540 P
2t

P P
— 488 2L 4036
1.04) Fi (5.32) bt

s=5157, R2=0885, R =0.860, DW = 1044

e0IOO
E P;
log Q= 709 — 535 log— + 0.705 log —t
(10.4) (10.4) P (453 +

P P.
— 0.018 log =2t + 268 log=2t
(0.06) P (6.46) Py

s=0.048, R?2=0949, R =0.937, DW =1.713
E P
log Q= 4.35 + 0.753 log — + 0.063 log —*
(1.88) (4.33) B o1 Py

P. P.
— 1.135 log —=f — 0.184 log =t
(10.9) Py (1.31) P

s=0.016, R?=0931, R =0.916, DW =1.317

E P
log Qs = 145 — 0.188 log— + 0.266 log —:

(6.87) (1.19) b (5.50) '
P P.
— 0.025 log =2t — 0.682 log =2t
(0.27) b (5.30) By

s=0.015 R>=10883, R =0.856, DW =1.067

e0D000O (DDOODD)
E P
log Q= 709 — 536 log— + 0.709 log —t
(10.9) (11.2) P (5.3 By

+ 2.67 log&
(7.69) Py

s=0.047, R2=0949, R =0941, DW =1.724



E
log Qs = 14.7 — 0.200 log — + 0.271 log

(7.24) (1.35) P (6.45)

P.
— 0.700 log =t
(6.49) Py

s=0014, R>=0882, R =0.863, DW =1.122

Pu
Py

Equation 1
Dependent variable: RICE
Number of observations: 23

Std. error of regression = 6.86222
R-squared = .931880

Adjusted R-squared = .916742
Durbin-Watson = 1.53202

Estimated Standard

Variable Coefficient Error t-statistic P-value
c 397.017 44.6531 8.89116 [.000]
EXPEND -.181197E-03 .193700E-04  -9.35453 [.000]
PRICE .194104 .044181 4.39338 [.000]
PBREAD .183851 .624927 .294196 [.772]
PNUDLE 5.61442 1.00868 5.56609 [.000]
Equation 2
Dependent variable: BREAD
Number of observations: 23
Std. error of regression = 685.116
R-squared = .930692
Adjusted R-squared = .915290
Durbin-Watson = 1.33394
Estimated Standard
Variable Coefficient Error t-statistic P-value
C 61946.7 4458.11 13.8953 [.000]
EXPEND .892518E-02 .193388E-02  4.61517 [.000]
PRICE 4.01443 4.41099 .910098 [.375]
PBREAD -710.401 62.3921 -11.3861 [.000]
PNUDLE -152.519 100.706 -1.51450 [.147]
Equation 3
Dependent variable: NUDLE
Number of observations: 23
Std. error of regression = 515.659
R-squared = .885467
Adjusted R-squared = .860016
Durbin-Watson = 1.04367
Estimated Standard
Variable Coefficient Error t-statistic P-value
C 56642.5 3355.44 16.8808 [.000]
EXPEND -.981338E-03 .145555E-02  -.674203 [.509]
PRICE 17.9257 3.31997 5.39936 [.000]
PBREAD -48.8299 46.9599 -1.03982 [.312]
PNUDLE -403.605 75.7971 -5.32480 [.000]

Equation 4
Dependent variable: LRICE
Number of observations: 23

Std. error of regression = .047951
R-squared .948742
Adjusted R-squared = .937352

38

Durbin-Watson = 1.71274

Estimated Standard
Variable Coefficient Error t-statistic P-value
C 70.8696 6.83745 10.3649 [.000]
LEXPEND -5.35328 .513147 -10.4323 [.000]
LPRICE .705187 .155688 4.52949 [.000]
LPBREAD -.018376 .307575 -.059744 [.953]
LPNUDLE  2.68374 .415226 6.46332 [.000]
Equation 5
Dependent variable: LBREAD
Number of observations: 23
Std. error of regression = .016261
R-squared = .931485
Adjusted R-squared = .916259
Durbin-Watson = 1.31683
Estimated Standard
Variable Coefficient Error t-statistic P-value
C 4.35091 2.31864 1.87649 [.077]
LEXPEND .752641 .174013 4.32521 [.000]
LPRICE .063838 .052795 1.20916 [.242]
LPBREAD  -1.13499 .104301 -10.8818 [.000]
LPNUDLE  -.184483 .140807 -1.31018 [.207]
Equation 6
Dependent variable: LNUDLE
Number of observations: 23
Std. error of regression = .014855
R-squared = .882561
Adjusted R-squared = .856463
Durbin-Watson = 1.06715
Estimated Standard
Variable Coefficient Error t-statistic P-value
C 14.5473 2.11821 6.86776 [.000]
LEXPEND  -.188430 .158970 -1.18532 [.251]
LPRICE .265739 .048231 5.50968 [.000]
LPBREAD  -.025354 .095285 -.266081 [.793]
LPNUDLE  -.682279 .128635 -5.30400 [.000]
Equation 7
Dependent variable: LRICE
Number of observations: 23
Std. error of regression = .046677
R-squared = .948732
Adjusted R-squared = .940637
Durbin-Watson = 1.72428
Estimated Standard
Variable Coefficient Error t-statistic P-value
C 70.9497 6.52669 10.8707 [.000]
LEXPEND -5.36202 .478792 -11.1991 [.000]
LPRICE .709343 .135580 5.23193 [.000]
LPNUDLE  2.67106 .347432 7.68801 [.000]
Equation 8
Dependent variable: LNUDLE
Number of observations: 23
Std. error of regression = .014487
R-squared = .882099
Adjusted R-squared = .863483
Durbin-Watson = 1.12273

Estimated Standard



Variable Coefficient Error t-statistic
C 14.6578 2.02571 7.23588
LEXPEND  -.200486 .148604 -1.34913
LPRICE .271474 .042080 6.45134
LPNUDLE  -.699770 .107834 -6.48935
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Kabu; = — 1883.1 + 46.3 ExRate; + 6802.6 R;
(2.58) (8.27) (51.7)
s =2309.9, R?=0570, R =0570, DW =0.021
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Kabu;

(0.03)

0.995 Kabu;_1
(482)

(0.31)

236 + 0.164 ExRate; + 36.5 R: +

(1.96)

s=2148, R>=099, R =0.996, DW = 2.100

AKabu, = 811 — 0.091 ExRate; — 0.862 R;
(0.119) (0.173) (0.070)
s=215.1, R2?=0.000015, R = —0.00097, DW =
2.106
Equation 1
Dependent variable: KABU
Current sample: 1 to 2028
Number of observations: 2028
Std. error of regression = 2309.90
R-squared = .569925
Adjusted R-squared = .569500
Durbin-Watson = .021141
Estimated Standard
Variable Coefficient Error t-statistic P-value
C -1883.07 730.508 -2.57775 [.010]
EXRATE 46.3052 5.60182 8.26611 [.000]
R 6802.61 131.602 51.6909 [.000]
Equation 2
Dependent variable: KABU
Current sample: 2 to 2028
Number of observations: 2027
Std. error of regression = 214.753
R-squared = .996281
Adjusted R-squared = .996276
Durbin-Watson = 2.10025
Estimated Standard
Variable Coefficient Error t-statistic P-value
C -2.35912 68.0538 -.034666 [.972]
EXRATE .164360 .529595 .310350 [.756]
R 36.5183 18.6521 1.95787 [.050]
KABU(-1) .994511 .206397E-02  481.844 [.000]
Equation 3
Dependent variable: DKABU
Current sample: 2 to 2028
Number of observations: 2027
Std. error of regression = 215.075
R-squared = .154148E-04
Adjusted R-squared = -.972712E-03
Durbin-Watson = 2.10631
Estimated Standard
Variable Coefficient Error t-statistic P-value
C 8.10993 68.0417 .119191 [.905]
EXRATE -.090602 .521624 -.173692 [.862]
R -.862455 12.2785 -.070241 [.944]
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